‘The Wall Street Crash enabled Hitler to become Chancellor of Germany in 1933.’ 

How far do you agree with this interpretation?
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Introduction, outlining the key, relevant factors.











How did the Wall Street Crash help Hitler become Chancellor?














This helped him to become chancellor because….














Conclusion – here you need to evaluate the factors you have discussed and make a judgement on the interpretation – how far do you agree and why?





























How did another factor help Hitler become Chancellor?
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